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On completion of the test, the candidate must
hand over the Answer Sheet to the Invigilator
before leaving the Room/Hall. The candidates are
allowed to take away this Test Booklet with them.

CODE printed on Side-2 of the Answer Sheet is the
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T & 91 MR Sefacha wen § wfawm 7w A feufe
A, B 3R C W I HArd AW K, Kp 3 K 7 |
AC & 317 2 7o 9 i feufa S W SB femmgem &

AT ACH A 3 | 99

(1) K,>Kg>Kg
(2) Kp<K,<Kg
3) K, <Kpg<Kg
(4) Kg>Kjy>Kg
TH 3 Al Al A W 7 | dled A H oaeg hH
AT TS St (K,) 6 @8 gof Tk S

(K,) ft 8t 3 | Tt & T K, - (K, + K,) T 319
=l

1 5:7
(2) 10:7
3) 7:10
4) 2:5

I3 3E T ok TTehrel H 70+t Tmfufa s1er < ufia:
TR ®9 Y PO H @ ¥ | I8 W H geAuH quH
T gy s e d gy o 2 | TR % R
frafafea § @ sa- Wifdes ofy for @l 2

(1) e sl

(2) ool Thas Het

(3) <RIV o

(4) IO Ham

aﬁ{éwwﬂ%owﬁawmm
feories afmmr § 10 T &1, @ Frefafed § @ we-a
T T R ?

(1) aedt T = 3T i & S |

(2) Yt W WA AT 1 AT HH & ST |
(3) aut 1 oS excht W srferes ot & i |

(4) Y=t W g’ % A H gfEdd T 8rm |

The kinetic energies of a planet in an elliptical
orbit about the Sun, at positions A, B and C are
K,, Kg and K, respectively. AC is the major
axis and SB is perpendicular to AC at the
position of the Sun S as shown in the figure.
Then

(1) Ky>Kg>Kg
(2) Kp<Kj<Kg
B) Ky<Kp<Kg
4 Kg>Ky>Kq

A solid sphere is in rolling motion. In rolling
motion a body possesses translational kinetic
energy (K;) as well as rotational kinetic energy

(K,) simultaneously. The ratio K; : (K; + K,) for
the sphere is

1) 5:7
(2) 10:7
3 7:10
4) 2:5

A solid sphere is rotating freely about its
symmetry axis in free space. The radius of the
sphere is increased keeping its mass same.
Which of the following physical quantities would
remain constant for the sphere ?

(1) Moment of inertia

(2) Rotational kinetic energy

(3) Angular velocity

(4) Angular momentum

If the mass of the Sun were ten times smaller
and the universal gravitational constant were

ten times larger in magnitude, which of the
following is not correct ?

(1) Walking on the ground would become more
difficult.

(2) Time period of a simple pendulum on the
Earth would decrease.

(3) Raindrops will fall faster.
(4) ‘g’ on the Earth will not change.
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Hﬁé%ﬁﬂwmmmq%ﬁmw
fogd-a9 E %mﬁ%ﬁaﬁmwﬁﬁiw
W IAHE B | T VS &k Fald H 9d q E &
RO ZGHT AT 0 ¥ 6 m/s B MG 7 | I 0
forea-a 1 foum Sopfta S I R | W oA *
E § R 3 S TehUS dh A Hdl Wl | 0 H
3 Tvs & o= fgeln wR &% shwd an i sfied
91 U 7

(1) 1m/s, 3m/s

(2) 1m/s, 3-5m/s

(3) 2m/s, 4m/s

(4) 1-5m/s, 3m/s
M HI 0 o frdl oo 3Md 951 ABC W m

TEATH T his sl FHATAR {2 2 | 39 91 o grft
3R Hig @R ‘@ o I @ | sdfeh &l a9 W o

T & U a 3 0 & o= Gy 8
A
2
a
0
C B
_ 8
L a= sin 0

(2) a=gcosH

3) a= "2
cosec 0

(4) a=gtan6
%

firg (2,0, - 3) WaH@aa F = 4] + 5] — 6k =1
g (2, — 2, — 2) % af@: ATl &

A A A
(1) -4i -j -8k

A A A
(2 -7i-8j -4k

3) -8i -4 -7k

4) -71-4j -8k

Torelt B = 3TUTA T Y g % AT I AT 0-001 em
JeqaHT® I B W gRT | H&A 9 H A
5 mm 3R Ieid F0H 1 [F HeH dad F 25 WA
SW 2 | A T A9 # I I - 0:004 cm B, A e
1 W&l SAE B

(1) 0-525 cm
(2) 0053 cm
(3) 0-521cm
(4) 0-529 cm

A toy car with charge q moves on a frictionless
horizontal plane surfatg under the influence oi)a
uniform electric field E . Due to the force q E,
its velocity increases from 0 to 6 m/s in one
second duration. At that instant the direction of
the field is reversed. The car continues to move
for two more seconds under the influence of this
field. The average velocity and the average speed
of the toy car between 0 to 3 seconds are

respectively

(1) 1m/s, 3m/s

(2) 1m/s, 3:5m/s

3) 2m/s, 4m/s

(4) 1-5m/s, 3m/s

A Dblock of mass m is placed on a smooth inclined
wedge ABC of inclination 6 as shown in the
figure. The wedge is given an acceleration ‘a’
towards the right. The relation between a and 6
for the block to remain stationary on the wedge
is

g
1 =
D a=203

(2) a=gecosH
3) a= 2
cosec 0

(4) a=gtan® N

A A A
The moment of the force, F =41 + 5j — 6k at
(2, 0, — 3), about the point (2, — 2, — 2), is given by

A A A
(1) -4i-j -8k

A A A
@ -7i-8j -4k
A A A
(3) -8i-4j -7k

A A A
4) -7i-4j -8k
A student measured the diameter of a small steel
ball using a screw gauge of least count
0-001 cm. The main scale reading is 5 mm and
zero of circular scale division coincides with
25 divisions above the reference level. If screw
gauge has a zero error of — 0-004 cm, the correct
diameter of the ball is

(1) 0525 cm
(2) 0053 cm
(3) 0521 cm
(4) 0529 cm
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9. foeit ThUHI[h g % ™A (V) § a9 (T) = =1 | 9. The volume (V) of a monatomic gas varies with
foreor ow ¥ i IR AaT R | ST A @ itst‘tem?eratulze éT)’ asb sh:}:vn in th(z gr:ﬁ)h.hTh:
5 ! ratio of work done by the gas, to the hea
FE B 7% T A 5 71 g e e sk absorbed by it, when it undergoes a change from
SEh G ST ST 1 SHTd d state A to state B, is
‘f \
B
B
A A
o —>T 0) —>
2
1 = 1 2
3 (1 3
1
2 = 9 1
3 (2) 3
2
3 = 3 2
5 3) =
2
z 2
@ - S
10. @ﬁ ALY Eﬁ ad 1 i 10. The fundamental frequency in an open organ
U139 o Gl ol (ST H g % wEE R | pipe is equal to the third harmonic of a closed
Ife o AT IgY 6 oF1s 20 cm 7, A @ﬁ At organ pipe. If the length of the closed organ pipe
uTEq i AR B is 20 cm, the length of the open organ pipe is
(1) Sem (1) 8cm
(2) 12:5cm (2)  12-5cm
(3) 132cm (3 13-2cm
(4) 16 cm (4) 16 cm
11. f5E W W Aiwfisy Rl & ot wed g (rms) 11. At what temperature will the rms speed of
ot ¥ ST H T O F e oxygen molecules become just sufficient for
j‘?ﬁg 21 St 2 fere escaping from the Earth’s atmosphere ?
oot 7 3 ' (Given :
( . TR 06 Mass of oxygen molecule (m) = 2-76 x 10726 kg
* 373 I (m) =2:76 x 107" kg Boltzmann’s constant kg = 1:38 x 10723y K_l)
e e ky = 1-38 x 1023 J K1) 4
(1) 8360x10°"K
4
(1) 8360x10°K (2) 5016x10*K
(2) 5016x10"K (3) 2508 x10*K
(3) 2:508x10*K 4) 1254x10*K
(4) 1254 x 10*K 12. The efficiency of an ideal heat engine working
12. o1 % TR 3R FGUHiE % S hEd e e between the freezing point and boiling point of
. ter, i
FSAT §99 I g&TaT Bt B warer, 18
1) 20% (L) 20%
@ 625% (2)  625%
(3) 26-8% 3) 268%
4) 12:5% 4) 12:5%
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13.

14.

15.

(47 + 4-7) kQ ¥fte & Foreh Sreq-gfoligs W, Tga=
% foru, fafira aurt o ao ifha fopr 5 2 | 3ot wre
T A BT

(1) e — S — IR — =T 1w

(2) el — &0 — S - gTEa

(3) S — el — ATt — =id o1

(4) B AR — S — g

‘v’ FIEH Ficgehi 1 qg=, a8 J® 1 gy
‘R 8, ooftspm W fa.a1.sd (emf), ‘B’ 3R 3r=afiish
gfqtie, ‘R’ 1 et S @ Taforg B | S 9 oft
g I 8 | 316§ ‘n’ JfaQeehi 1 Uwd A § 3EH S
gEca frn S 1A S oA T awm 10 I &
Tt ] | ‘n’ BT HAH B

1 11
(2 20
3 10
4) 9

g St 3maftes gfetiy @ a1e, Fofishd ¥ T, ‘o’
TdEn Al (T n giEdl 3) ¥ oS 7 | 9l *
Tl b1 U ek g/ [ ATt S 7 | fem mn
HH-A1 T 1 3R n o = & Tae 1 giiar g ?

I
o)) f i
0 —n
I
o 1/
(0] —n

I

@ M
O —n
I

@ !
O —>n

13.

14.

15.

A carbon resistor of (47 + 4-7) kQ is to be marked
with of different
identification. The colour code sequence will be

(1)  Yellow — Violet — Orange — Silver
(2) Yellow — Green — Violet — Gold

(8) Violet — Yellow — Orange — Silver
(4) Green — Orange — Violet — Gold

rings colours for its

A set of ‘n’ equal resistors, of value ‘R’ each, are
connected in series to a battery of emf ‘E’ and
internal resistance ‘R’. The current drawn is L.
Now, the ‘n’ resistors are connected in parallel to
the same battery. Then the current drawn from
battery becomes 10 I. The value of ‘n’ is

1 1

(2) 20
(3) 10
4 9

A battery consists of a variable number ‘n’ of
identical cells (having internal resistance ‘r’
The
terminals of the battery are short-circuited and

each) which are connected in series.

the current I is measured. Which of the graphs
shows the correct relationship between I and n ?

I
(1) f i
0 —n
I
@ 1/
) —n

1

@ 1
O —n
I

w 1
O —n
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16.

17.

18.

19.

#E Fre g w1 PRt mem A A V = Vi @
T W g | e aw 39 fagg-grasde air @
foga-a= QoM +y W b W B | d9 W

forga-grashia Tl o FEeehid & g ohi femm Bl
(1) +zfem
(2) -—yfem
(3) —zfeam
(4) —xTesm

fopeht forom & vered ot sredie /2 IR fisH w1 w
30° 2 | fr5w & @ omads ol H H wh &l Al
et i 1 3R I 1 T 8 | g Bk |
TOST T I ThaUT JeRTeT W1 his G (U1 aTel I8
T WEfdd g & IvEr) 3§ U W I ol S,
afe firsa W STT9a o 1 A= R

(1) 45°

(2) 30°

(3) 60°

(4) IA

Hig o7 15 cm BIHH g % fopel ofaaa gdur &
40cm@mﬁ%%|aﬁsaﬁwaﬁaﬁwﬁﬁwﬁ
20 cm TIAFARG X fean S, gfafars foeaft gl
R foreenfua &1 smam ?
(1) 36cm‘6ﬁ'UTﬁ§
(2) 30 cm TYU1 % I
3) SOCm?TFT'UT@E;{
(4) 36 cm TUUl % I

foret Tt T 60 mA T 9N JaTRd HE W 39 Wk 4
Tfua grah feafast ot &1 7 25 mJ 2 | 39 I
T YTehed B

(1) 13888 H
(2) 1-389H
(3) 0-138H
(4) 13-89H

16.

17.

18.

19.

An em wave is propagating in a medium with a
velocity ;)7 = V/i\. The instantaneous oscillating
electric field of this em wave is along +y axis.
Then the direction of oscillating magnetic field of
the em wave will be along

(1) + z direction

(2) -y direction

(3) - zdirection

(4) —xdirection

The refractive index of the material of a prism is
V2 and the angle of the prism is 30°. One of the
two refracting surfaces of the prism is made a
mirror inwards, by silver coating. A beam of
monochromatic light entering the prism from the
other face will retrace its path (after reflection
from the silvered surface) if its angle of incidence

on the prism is

(1) 45°
(2) 30°
(3) 60°
(4) zero

An object is placed at a distance of 40 cm from a
concave mirror of focal length 15 cm. If the object
is displaced through a distance of 20 cm towards
the mirror, the displacement of the image will be
(1) 36 cm away from the mirror

(2) 30 cm towards the mirror

(3) 30 cm away from the mirror

(4) 36 cm towards the mirror

The magnetic potential energy stored in a certain
inductor is 25 md, when the current in the

inductor is 60 mA. This inductor is of inductance

(1) 13888 H
(2) 1389H
(3) 0138H
(4) 13-89H
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20.

21.

22.

23.

A IV = Vo (Vy > 0) 3R ZEE m
w1 W W B BEReT B - - By |
(B = e > 0) H t = 0 T Yoz a1 2 | Al Joew
# 30 goidgH hI ISl almeed 4y B, @ §WE ¢ W
EEE TR i i R

eEO t
mVO

1) A (1 +

@ gt
Lo

1+ elo t
mVO

@

3

foret Meanfea werdl 1 srd-aryg 10 fie § | =fe
Iy § TRl T T 600 7, A1 450 TR &
fqafea a9 # oM aren ww (e #) &

(1) 10

(2) 30

(3) 20

4) 15

BIgSioM TATY] i fopelt s whenm # fonet g <Al
TTferst St IR IEEHT el oIl bl AT Bl B

1 1:-1
2 2:-1
3 1:1

4) 1:-2

S foRet u1g % 988 W ST 2v, (IET v, g
R 8) T TR AT HLAT &, 1 SN erag i
1 AfUhad 9 v, 7 | F9 Ufaa fafrwr it g
e By, B & Sl @, q IH TS Ic@brd
Wwﬁw%vzm%wlaﬁvzw
ST B

(1) 1:4
(2 4:1
3) 1:2
4 2:1

20.

21.

22,

23.

An electron of mass m with an initial velocity
;; =V, /1\ (Vo > 0) enters an electric field
}_E> =— Eoli\ (Ep = constant > 0) at t = 0. If A is
its de-Broglie wavelength initially, then its
de-Broglie wavelength at time t is

eE 0 t
mVO

D A (1+

@ 2t
Mo

1+ eEo t
rnVO

@ A

3

For a half-life s
10 minutes. If initially there are 600 number of

radioactive  material,

nuclei, the time taken (in minutes) for the
disintegration of 450 nuclei is

(1) 10
(2) 30
3) 20
4 15
The ratio of kinetic energy to the total energy of

an electron in a Bohr orbit of the hydrogen atom,
is

1) 1:-1
2 2:-1
3 1:1
4) 1:-2

When the light of frequency 2v, (where v, is
threshold frequency), is incident on a metal
plate, the maximum velocity of electrons emitted
is vy. When the frequency of the incident
radiation is increased to 5v,, the maximum
velocity of electrons emitted from the same plate
is vo. The ratio of v{ to vy is

(1) 1:4

(2 4:1

3) 1:2

4) 2:1
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24.

25.

26.

AUFAR AT gere % fRHl TEAd g WIS
agfad YehTr a1y ¥ AAd war 7 | feRet faw
AT HIV ¢ W Ig g T foh wafda fol et
sqafia R Th-gEt % aFEed § | FefaRed | @
HH-a1 foshey 39 feufa § @t 2 2

(1) wafdd v gfad 8 3 gae fogq afew
JATYGH o et o Tead 8

(2) i=sin! (EJ
1

(3) wWafdd Yehm gfod g R 3@ fogq |few

ST o dd o 9 8
(4) i=tan™! (lJ
1)

forell T 319 glaRish ol IV T 3Tfae
3R i faves 3= g0, afe sueh gy o i
(1) wIhE gl 31k 3R =8 e 2

(2) iHE g IAlH 3T =A™ 91 2

(3) I g FH 3TN =A™ o1 2

(4) ST g FH 3N AE B &

I % fgfer s o, fafedt 3 o9 9ok d, 2 mm 2
dor fft  9¢ 1 gt D %I 100 cm W@d §Y UG
A = 5896 A % T T IUANT feralT T B | T§ U
e fom fibatt <t whivii =erE 0-20° 7 | @9 (361 A 3R
D % forw) fibsti <t whiviiar =St & 9ge 0-21° &

% fore fafEt & g % ok 1 e g
(1) 19mm
(2) 21mm
(3) 1-8mm
4) 1-7mm

24.

25.

26.

Unpolarised light is incident from air on a plane
surface of a material of refractive index ‘W. At a
particular angle of incidence 7, it is found that
the reflected

perpendicular to each other.

and refracted rays are
Which of the

following options is correct for this situation ?

(1) Reflected light is polarised with its electric
vector perpendicular to the plane of
incidence

(2) i=sin! (EJ
n

(3) Reflected light is polarised with its electric
vector parallel to the plane of incidence

(4) i=tan! (1J
1)

An astronomical refracting telescope will have
large angular magnification and high angular

resolution, when it has an objective lens of
(1) large focal length and small diameter
(2) large focal length and large diameter
(3) small focal length and large diameter

(4) small focal length and small diameter

In Young’s double slit experiment the separation
d between the slits is 2 mm, the wavelength A of
the light used is 5896 A and distance D between
the screen and slits is 100 cm. It is found that the
angular width of the fringes is 0-20°. To increase
the fringe angular width to 0-21° (with same A
and D) the separation between the slits needs to

be changed to

(1) 19mm
(2) 2'1mm
3) 1-8mm
4) 1'7mm
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27. feu 7u ufwy smw o, faw dieen (V) 20V,|27. In the circuit shown in the figure, the input
Vpp =0T Vo =07 | I, I 3T o M Bl voltage V; is 20 V, Vg = 0 and Vg = 0. The

1

20V values of I, Iy and B are given by
20V

(1) Ig=25pA, Io=5mA, =200
B= =0 S Tc B (1) Ip=25puA, Io=5mA, =200

@) Tp=20pA, In=5mA, B =250
B ==V HA Te b @) Ig=20pA, Ig=5mA, B =250

(3) In=40pA, Io=10mA, B =250
s e P (3) Ig=40pA, Ig=10mA, B =250

(4) Tg=40pA, Io=5mA, p=125
B==H% %o . 4) Iz=40pA, Io=5mA, f=125

28. fortit p-n gfyr e d 7 29 @ 99§ gieda 28. In a p-n junction diode, change in temperature
heati
(1) act 37 fRig I T a2 | due to heating
. : (1) affects only forward resistance
(2) p-n @Y % gfeRiy o gefea T8 war @ |
(3) ke oYcshH (ﬁaﬁ) i sh uTferd ohiefl & | (38) affects only reverse resistance

(4) pmn gftr & g9y V — 1 SAfeeror 1 gsifad s (4) affects the overall V — I characteristics of
2 p-n junction

(2) does not affect resistance of p-n junction

) ) . ) ) 29. In the combination of the following gates the
29. fo= ¥ fou o et & @A # frfa Y R fawi A e output Y can be written in terms of inputs A and

B% U3l § 9 YR Fad o3l ST Hehdl & B as
Ae Ae

Be r o Y Be
=

—0—

>
>

(1) A.B+A.B (1) A.B+A.B
(2) A.B+A.B (2 A.B+A.B
3) A.B (3) A.B
4) A+B (4 A+B
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30.

31.

32.

33.

Toret wafer fguar w1 3w foreft Tt i i Aot &
IS 39 H o forw fopam a7, foem Ay wey
I TS I IiEd! e grT aHTEiSTa foRam ST Hehan
21 27°C &y 9 W Ty I T=E 20 cm AW
73 cm B W g HUFTA TG 399 B 8 | Al waf
g &1 IERT 320 Hz 7, @1 g § & & 27°C W
an g

(1) 339 m/s
(2) 350 m/s
(3) 330 m/s
(4) 300 m/s

Y Q % foreft fogea Tma ufgemr @enfr ¢

% A ITelt g <l afgemiati & fiw fRR-Ggd 9o

(1) dfgewreit & = A gt F Wawd: s
A1 E |

(2) ufgati & o= 6 g & A 6 SIHAAT
a1 E |

(3) fgehrait < fter A1 gft T i 7 et |

(4) dfghiaTt & < 61 gl FeshUTId B 2 |

HTS FOHH TaUEEE ¥ Rl THEHE U HW H
Feate fgq-49 E § ®8 § 18 g, h, a1 2 | =@
fogd-&a &1 g sfEidd W@d ge sEehl foum
Iohid K < It 7 | TR Wietd @ fomrewen @
s & SeateR gt h a6 sE Fr fon S 1 et
% fire o forg 7o g < qorn | g g i d
ot e T R

(1) 57T 3Tt

(2) 10 TAT Afeh

(3) <pH

(4) wHE

HIE AITh Th BBl Ho T H S § AH 8 3R
W IMEd et hi Aifd god &9 § WA i
W e | we feufd @ 5 m g W Eh Mo H

T 20 m/s2 B | Sl 1 JAEdRTA 3

1) m=ms
(2) 2s
3) 2mns
4) 1s

30.

31.

32.

33.

A tuning fork is used to produce resonance in a
glass tube. The length of the air column in this
tube can be adjusted by a variable piston. At
room temperature of 27°C two successive
resonances are produced at 20 cm and 73 cm of
column length. If the frequency of the tuning fork
is 320 Hz, the velocity of sound in air at 27°C is

(1) 339m/s

(2) 350 m/s
(3) 330m/s
(4) 300 m/s

The electrostatic force between the metal plates
of an isolated parallel plate capacitor C having a
charge Q and area A, is

(1) linearly proportional to the distance

between the plates.

(2) proportional to the square root of the
distance between the plates.

(3) independent of the distance between the
plates.

(4) inversely proportional to the distance
between the plates.

An electron falls from rest through a vertical
distance h in a uniform and vertically upward
directed electric field E. The direction of electric
field is now reversed, keeping its magnitude the
same. A proton is allowed to fall from rest in it
through the same vertical distance h. The time of
fall of the electron, in comparison to the time of
fall of the proton is

(1) 5 times greater

(2) 10 times greater

(3) smaller

(4) equal

A pendulum is hung from the roof of a
sufficiently high building and is moving freely to
and fro like a simple harmonic oscillator. The
acceleration of the bob of the pendulum is

20 m/s? at a distance of 5 m from the mean
position. The time period of oscillation is

1) ms

2 2s
3) 2ms
4) 1s
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34.

35.

36.

37.

0-5 kg m™! ¥fd 31 Trams geome i foelt g <t
afast T8 # T Faehd TMa o W S &Afes & 30°
T IV ST 7, T T 2 | 36 B I 360 e
€T JaTed hieht e Hlehd 8l a1 ST e 36 W
0-25 T ST %1 Frachid &7 Heater foem #§ sl =t @
2 | D8 I for we & fau s yerfga a2

(1) 598A
(2) 1476 A
3) T14A
(4) 11-32A

foret =re1 puseht oot St g gunfedt 5 div/mA
3TN Fieedl GuTfedr (Yad 318 dieedl & Icad HIvi
fa8m) 20 div/V ? | 30 et o fodg 8

1) 25Q
(2) 250Q

(3) 40Q

(4) 500 Q

forell forrd-grark o @i & o= fagraeha ugre i

TH Udehl B8 Fearer e 2 | 9 foed-gree § g
YaTed i Al 8, d1 98 B &fds greshd & § Tat
SR 1 IR g & T 2 | 3H THR T8 TS Teed
feufasr ot ured et 8 | W\ % fow staveeh
T B

(1) graha &=

(2) BT % Uard hl A T

(3) faga &

(4) %ﬁﬁ-mﬁﬁmmmﬁm

20 mH &1 1§ I, 100 uF H1 61§ TLTE G5 50 Q
1 H1S Tfelieeh, fa.a1. s (emf), V = 10 sin 314 t
& fortft wa @ 9oft § TfSia 8 | 39 uiwy # wifeq
DR

(1) 043 W
(2 274W
3) 079W
4) 113W

34.

35.

36.

37.

A metallic rod of mass per unit length
0-5 kg m! s lying horizontally on a smooth
inclined plane which makes an angle of 30° with
the horizontal. The rod is not allowed to slide
down by flowing a current through it when a
magnetic field of induction 0-25 T is acting on it
in the vertical direction. The current flowing in

the rod to keep it stationary is

(1) 598A
(2) 1476 A
3) 714A
(4 11-32A

Current sensitivity of a moving coil galvanometer
is 5 div/mA and its voltage sensitivity (angular
deflection per unit voltage applied) is 20 div/V.
The resistance of the galvanometer is

(1) 25Q

(2) 250Q
(3) 40Q
(4) 500Q

A thin diamagnetic rod is placed vertically
between the poles of an electromagnet. When the
current in the electromagnet is switched on, then
the diamagnetic rod is pushed up, out of the
horizontal magnetic field. Hence the rod gains
potential The work

gravitational energy.

required to do this comes from
(1) the magnetic field

(2) the lattice structure of the material of the
rod

(8) the current source

(4) the induced electric field due to the
changing magnetic field

An inductor 20 mH, a capacitor 100 puF and a
resistor 50 Q are connected in series across a
source of emf, V = 10 sin 314 t. The power loss in
the circuit is

(1) 043 W
(2) 274W
3 079W
4 113W
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38.

39.

40.

41.

foreht spfsrent gro fafsefa i P 2 e =g aome,
Ay T 3Tfeehan Hat fafeRla w3 | o AR =

ISR 1 A9 gREfia & fen s g, we 76 9
%xoa@ﬁzﬁmaﬁwwfﬁr&sﬁamé,a
% g0 FafteRa Wi nP &1 STt & | n 1 WE ERm

1 -
(2)

@ -

81
256

g AR U ggrd o &4 g R gFI o ITad ot gum
g | 95 AR 1 STIRY-HE H &THA A 3R gW AR
I FTIEI-HE H FTFA 3A 7 | I 5@ F et
UEe R I AR H AL H glg h I 7, 9@ gE AR
hl awerg H gl & g HE b Ty fohe Wt Al
JTETAHAT B 2

(1) 6F

(2) 4F

3 9F

4) F

s o 1 Sig @Y e fotmmaEen ¥ ot v ga
it 8 | W9 o1 & RO 3HA FOAT 39 BT R |
M & Sifqm (efld) a9 | 3oqa o= @il

4)

frafirfiad # & form ST B 2 2
1 12
@ 1
3
@ 1t

M= g (1:013 x 10° Nm™2) 3R 100°C a9 W
0-1 g 9@ % T &I 100°C H 99 H gf@fdd & &
T 54 Al AT o1 shl STEhal Bidl & | Afe
3UF WY H AFAA 167-1 cc 7, 9 39 T A
F=ANeh Sl § qiadd &

(1) 2087J
(2) 42-24J
(3) 104:3J
(4) 8454J

38.

39.

40.

The power radiated by a black body is P and it
radiates maximum energy at wavelength, A,. If
the temperature of the black body is now
changed so that it radiates maximum energy at
wavelength % Ao, the power radiated by it
becomes nP. The value of n is

o X

(2)

@ -

81

(4) 956

Two wires are made of the same material and
have the same volume. The first wire has
cross-sectional area A and the second wire has
cross-sectional area 3A. If the length of the first
wire is increased by Al on applying a force F,
how much force is needed to stretch the second
wire by the same amount ?

(1) 6F
(2) 4F
3) 9F
4 F

A small sphere of radius r’ falls from rest in a
viscous liquid. As a result, heat is produced due
to viscous force. The rate of production of heat
when the sphere attains its terminal velocity, is
proportional to

@

@ r°
3 1
@

A sample of 0-1 g of water at 100°C and normal
pressure (1-013 x 10° Nm™2) requires 54 cal of
heat energy to convert to steam at 100°C. If the
volume of the steam produced is 167-1 cc, the
change in internal energy of the sample, is

(1) 2087dJ

(2) 42-2J
(3) 104:3J
(4) 8454J
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42.

43.

44.

45.

I # AT gER S h & =urfEd qg & srgfew
forT 3TaEeT T T T 18 fUvg, @ AB = D &
FHealeR g I Sh-3Neh IU HT 2 | 99 Ha18 h Eefr

h B
o
l A
1 D
@) %D
(3) %D
@ 2D

= fovg, A : (T 3™ @), B : (TH dac IR
FHdt) qA C : (Th JAHR Bgl), W J@F *
geqqE M qen B R R, @9H ST =l o | A9
ufifa s1ef & ufta: =shor o @ 8 | 32 formraEen |
M & fau fhu 99 ot 3mewEss wET (W) & fag
-9 Hoy TE R 2

(1) WA>WB>WC

(2) WB>WA>WC

(3) WC>WB>WA

(4) WA > Wc > WB

TEHE m T Th TR Tehl, 4m GHM % foRet
@ fOr ek & HHg a1 § | HHg % UvEN g
Teoht fom sragen o a1 8 | 9 ook ek
SRR 3T v &, 41 TeaHE T (e) <l HH &I

(1) 025
(2) 08
3) 05
4) 04

Frafafaa @ @ wH-01 w99 @ 8 2

(1) =3fae =wdur w1 g e Afiens gfafsen &
FHETAT BTl B |

(2) =N 5 TR T w1 forie et R |

(3) el TNl gdf =¥ § w9 BT R |

(4) Gdf g qures i fommd TEetg i fomn % TEE
Bt |

42,

43.

44.

45.

A body initially at rest and sliding along a
frictionless track from a height h (as shown in
the figure) just completes a vertical circle of
diameter AB = D. The height h is equal to

h B
o
l A
1 D
@) %D
3) gD
@ 2p

Three objects, A : (a solid sphere), B : (a thin
circular disk) and C : (a circular ring), each have
the same mass M and radius R. They all spin
with the same angular speed m about their own
symmetry axes. The amounts of work (W)
required to bring them to rest, would satisfy the
relation

(1) Wo>Wg>Wg,
(2) Wg>W,>Wgq
3) We>Wg>W,
(4) Wr>Wi>Wg

A moving block having mass m, collides with
another stationary block having mass 4m. The
lighter block comes to rest after collision. When
the initial velocity of the lighter block is v, then
the value of coefficient of restitution (e) will be

(1) 025
(2) 08
3 05
(4) 04

Which one of the following statements is
incorrect ?

(1) Limiting value of static friction is directly
proportional to normal reaction.

(2) Frictional force opposes the relative motion.

(3) Rolling friction is smaller than sliding
friction.

(4) Coefficient of sliding
dimensions of length.

friction  has
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46.

47.

48.

49.

50.

Hiem 1 ¥ fqu MU arg Al @l wiem 11§ for mu
AR o TN gk ATEEn §  fiewy den
@1 "oha w1 fafdse Hifsre

FHicrd I FHicrd 11
a. Co* i. V8 BM.
) ii. /35 BM.
c. Fe* iii. /3 B.M.
d. Ni** iv. V24 B.M.
v. 15 B.M.
a b c d
1) i ii iii iv
2) iv i ii iii
3) 1iv v ii i
(4) i v i ii
P e, Fe(CO); 3
(1) TUehohgoh
2) Feogs
(3) TThhoH
4) fehss

HFA [CoCly(en),] GRT FERid HHTERIEAT 1 TN &
(1) SYHGHIASH THTEFET

(2) IR GHTEFEAT

(3) SATHA GHTEREdr

(4) < guTEIadn
Frafafaa o @ S-a1 3 d-d GhAvT gUiaT 8 ad
1o & AIFehed i ?

(1) Cry02”
(2) MnO,
3) Cr0F”
(4) MnO;~

[Ni(CO),] G I il we graehr or 3
(1) —gshaAhE SATHIT Td Sfagraehi™
(2) o GHdelt sarfufd T SEgrEhE
(3) o THAC STl W Tfagreshr

(4) FATHAHE SATH( T TR

46.

417.

48.

49.

50.

Match the metal ions given in Column I with the
spin magnetic moments of the ions given in
Column II and assign the correct code :

Column I Column II
a. Co®t 1. J8 B.M.
b.  Cr3* ii. /35 B.M.
c. Fe3* iii. 3 B.M.
d  Ni%t iv. /24 B.M.
v. 15 B.M.
a b c d
1 i ii iii iv
@2 iv i ii iii
3 iv v ii i
(4) i v i ii

Iron carbonyl, Fe(CO)jy is

(1) mononuclear

(2) trinuclear

(3) tetranuclear

(4) dinuclear

The type of isomerism shown by the complex
[CoCly(en)s] is

(1) Coordination isomerism

(2) Ionization isomerism

(3) Geometrical isomerism

(4) Linkage isomerism

Which one of the following ions exhibits

d-d transition and paramagnetism as well ?

(1) Cry02~

(2) MnO,
2

3) Cro;

(4)  MnO%"

The geometry and magnetic behaviour of the
complex [Ni(CO),] are

(1) tetrahedral geometry and diamagnetic

(2) square planar geometry and paramagnetic
(3) square planar geometry and diamagnetic
(4) tetrahedral geometry and paramagnetic
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51.

52.

53.

54.

55.

2:3 g HifHeh A YT 45 g FATTh A I TTg
H,S0, § T3 am W 3cafsia e fasmr s KOH
% Bl ghel § TN I & | STP W &= §T 391G
T IR (g ) g

@ 30
2 28
3) 14
4 44
Ufiree wa Ufrerfae | fofimear 2

(1) VWA H 154 o7 A1 > 6 p-aeH B

(2) UfHEEfEA § 1 - 4 o8 11— 6 B 7

(3) UENfFA T 1 > 4 oS AA 1 - 6 0T
2

(4) e e TE A | S R

fiRieh 9g 37T TR Sghi o HGH | Ffaiad §

Y T HAT HTHT B ?

(1) A fgfsrarcns wa Fafsharcns TqgEl % Uwhehl @
T4 7 |

(2) SehclTse T A 36 ISTE & |

@) W fafim We sgos Juaei F 69
HEEASIh 37§ B 3 |

(4) T TEAH JEAH W TSGR Y
B E |

el &1 AEde yad oTefE wierw ¥ R W

m-TESUe ot sHar ] it

(1) Fogeeal Wigeemmq o1fufeen # Uil @wg
m-Fgere 7 |

(2) Ufcumuss 1 orufeufa # Tsdr wgg @
m-fefad o Smar 7

(3) ufcremyes st Sufeufa o ra(e A15el TuE B
haet m-feafa @ & St 2

(4) 3rcfig (o) mresm | Ufets Ufefifem omem
FEqH AR |

fafafiga @ @ Fa-d feaEe A gaifas wefim

Tepid B ?

(1) BeO
(2) BaO
(3) MgO
(4) CaO

51.

52.

53.

54.

55.

A mixture of 2:3 g formic acid and 4-5 g oxalic
acid is treated with conc. HySO4. The evolved
gaseous mixture is passed through KOH pellets.
Weight (in g) of the remaining product at STP
will be

(1 30
(2) 28
3) 14
(4) 44

The difference between amylose and amylopectin
is

(1) Amylose have 1—4 o-linkage and
1 — 6 B-linkage

(2) Amylopectin have 1 — 4 o-linkage and
1 — 6 B-linkage

(3) Amylopectin have 1—4 o-linkage and
1 — 6 o-linkage

(4) Amylose is made up of glucose and

galactose

Regarding cross-linked or network polymers,

which of the following statements is incorrect ?

(1) They are formed from bi- and tri-functional
monomers.

(2) Examples are bakelite and melamine.

(3) They contain covalent bonds between

various linear polymer chains.
(4) They contain strong covalent bonds in their
polymer chains.
Nitration of aniline in strong acidic medium also
gives m-nitroaniline because

(1) In electrophilic substitution
amino group is meta directive.

reactions

(2) In absence of substituents nitro group
always goes to m-position.

(3) In spite of substituents nitro group always
goes to only m-position.

(4) In acidic (strong) medium aniline is present
as anilinium ion.

Which of the following oxides is most acidic in
nature ?

(1) BeO
(2) BaO
(3) MgO
(4) CaO
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56. 39 3ffsRan

57.

58.

OH O™Na*
@ + CHClg + NaOH ———> @ CHO
LRI ISEESEC S R

@
(1) e &= (CHO )

)
(2) SRFARMEA FOME (CHCL,)

@
(3) SRFANHIS ¥R (CHCly)
(4) eSEFARGE (:CCly)

FHEIFIAR A o FALAAH THded NM0ah GeaTH
I Ufcegssl, ISl doT I8 % foh Uchlgial 4
J=a Bd 8 | T8 ohEeh o gran B 2

(1) HEfFIAS 3T & &4 °

(2) HEfGd(cieh 3Tl ol ATTh TR TUE TS
e ATHY Sl h g Bl 8

(3)  3T=:31fUereh BIEEIM §eF o4 &
(4) STUATIH gESSH q67 a4

T A B A, CgHy(O S o NaOI (Y 1 stfurfsman
NaOH & oieh s 1) | 1fufshan sk enerfores

T arert Gl a8 T B |
A I Y AT B

1 @— CH, - CH, — OH 3R I,
) @— (le — CH, 3R I,
OH

(3)

Hy,¢ ) CH, - OH 3 I,

CH,

4) CH, G OH 3 I,

56.

57.

58.

In the reaction

OH O Nat

@ + CHCl, + NaOH ——> @ CHO

the electrophile involved is

@
formyl cation (CHO )

S]
dichloromethyl anion (CHCl;)

(1)
(2)

@
(3) dichloromethyl cation (CHCl)

(4) dichlorocarbene (:CCly)

Carboxylic acids have higher boiling points than
aldehydes, alcohols of
comparable molecular mass. It is due to their

(1
(2)

ketones and even

formation of carboxylate ion

more extensive association of carboxylic
acid via van der Waals force of attraction

3
4)

formation of intramolecular H-bonding

formation of intermolecular H-bonding

Compound A, CgH,,0, is found to react with

NaOlI (produced by reacting Y with NaOH) and
yields a yellow precipitate with characteristic
smell.

A and Y are respectively

¢ - CH, - CH, - OH and 1,
@ ¢ ) CH-CHyand,

|

OH

(D

3

H3C _©_ CH2 —OH and 12

CH,

4) CHg G OH and I,
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59.

60.

61.

62.

Hqifieh A it Na & Affshan e ® 9 B a1 2 ao
PCly % |1 STTTHIT W Wag C a1 & | B W C
gl S g T R e W SRS 3R U
BaT2 | A, BANMCHA T

(1) C,H5OH, C,H,Cl, C,H;ONa
(2)  C,H;Cl, CyHg, C,H;OH
(3) C,HsOH, CyHy, CoHCl

(4) C,H5OH, C,H;ONa, CoHCl

JIgHed | Yepfd Ud "4 fhaneti gt @ ffifa amsgem
T HIH-H1 ATFEES HIR TGTh 787 8 ?

(1) NO,

2 N0

(3) N,Os

4 NO

BIggIhEA (A) S & gfaead= grr 3Tfrfshan oteh
h Ufeshar sse 2ar B S T e srffeen g
Fefiw gr3grpre | uiafda g & fem % <) @ +m
e THIY E | (A) 7

(2) CHz-CH,

(3) CH=CH
(4) CHy

e Rt O, H, Frffan sffmnet & e 2 -

3Cly/A  Bryg/Fe _ Zn/HCI
C;Hg A B C

(4) p-SEICAEA

59.

60.

61.

62.

The compound A on treatment with Na gives B,
and with PCl; gives C. B and C react together to
give diethyl ether. A, B and C are in the order

(1) CyHFOH, CoH;Cl, CoH5ONa

(2) CyHyCl, CoHg, CoH;OH

(3) CyH5OH, CoHg, CoHCl

Which oxide of nitrogen is not a common

pollutant introduced into the atmosphere both
due to natural and human activity ?

(1) NOgy

(2) Ny,0

(3) NyO5

(4) NO

(A)
substitution to form an alkyl bromide which by

Wurtz
hydrocarbon containing less than four carbon

Hydrocarbon reacts with bromine by

reaction is converted to gaseous

atoms. (A) is

(1) CH,=CH,
(2) CHs;-CH;j
(3 CH=CH

(4) CH4
The compound C;Hg undergoes the following

reactions :
3CL,/A

Bry/Fe _ 7Zn/HCI
Hg A B C

The product ‘C’ is

(1) o-bromotoluene

(2) 3-bromo-2,4,6-trichlorotoluene
(3) m-bromotoluene

(4) p-bromotoluene
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fafafgd & @ ®9-w FEvARA g9l Tmh
arufera 2 2

o ()
Y H
NO,
v/ &
NO,
Y H
NO,

fafofied § & whmemE % -1 TwE ¥ Hed §
HH-H1 HEl & ? (R = Ufespa)
(1) -NRy<-OR<-F
2)
3)
(4)

63.

s

(2)
3
4)

Y

64.

—-NHy>-OR>-F
-NH; <-OR<-F
—-NRy>-OR>-F

65. Frerffan § & Few o § ad ¥ @1t % TR &
sp, sp?, sp, sp HHT ST I 8 ?

(1) CH,=CH-C=CH
(2) CH,=CH - CH = CH,
(3) HC=C-C=CH

(4)

63.

64.

65.

CH; - CH = CH - CHj

Which of the following carbocations is expected to
be most stable ?

NO,
Y H
NO,
Y @
NO,
Y H
NO,

Which of the following is correct with respect to
— I effect of the substituents ? (R = alkyl)

(1) ~NRy<-OR<-F
(@)
(3)
(4)

s

(D
(2)
3
4)

=<

-NHy>-OR>-F
-NH,; <-OR<-F
—-NRy>-OR>-F
Which of the following molecules represents the

order of hybridisation spz, spz, sp, sp from left to
right atoms ?

(D
(2)
3
(4)

CH,=CH-C=CH
CH, = CH - CH = CH,
HC=C-C=CH
CH, - CH = CH - CHj
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66. f=faRaa sifufshen sf@en # g&7 3e9¢ P, Q 3R R
aﬁ%ﬂﬁ'q:

g

EEKH

AlCl,
+ CH3CH2CH2CI _—>

(i) Oqy

_— 5 R
(ii) Hz0%/A

Q+

P Q R

CH,CH,CH; CHO  COOH
NelNeNe

CH(CH,),

OH
@ CH,;CH(OH)CH,

CH,CH,CH,

(2)

CHO

(3) CH,CH, - OH

OH
CH(CH,),
@ @ CH; — CO — CHj

fafafiga @ @ S Afe Cacemm a9 goar
27?

(1)
(2)
(3)
(4)

67.

LIRS
TAISh ITFA
UERIE!
TATEEA

66. Identify the major products P, Q and R in the

following sequence of reactions :

g

Anhydrous

AICI,
+ CH3CH,CH,Cl ———>—

(1) Og

T Q +R
(i1) H3O*/A

P Q R

CH,CH,CH; CHO  COOH

Q0.0

H(CH,), OH
@ CH3CH(OH)CH;

C
(2) @ ’
CHO

CH,CH,CH
OH
CH(CHy),
@ CH; - CO - CH,

Which of the following compounds can form a

3

4)

67.

zwitterion ?
(1) Acetanilide
(2) Benzoic acid
Aniline

3

(4) Glycine
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68.

69.

70.

71.

fafafiga foe@at = NaOH twd HCL i fig-fim
Hrgdrsli U 3Tl o {90 & s9mn T B

a. 60 mL M HCI + 40 mL E NaOH
10 10

b. 55 mL M HCI + 45 mL M NaOH
10 10

c. 75 mL % HCI + 25 mL % NaOH

d. 100 mL M HCI + 100 mL M NaOH
10 10

T4 © frgert pH, 1% SR 81 2
(1)
(2)
3
4)

o T 0w

frefafed & @ F9-8 0 | WA H Thed wHa
it wedft 2 2

(1) had A & HR T

(2) A & A YA T AEY Fog gHl W

(3) hacd IR % A IRHATT T

(4) o IR & AT g |

NH,, H,, O, @1 CO, % fou aret awea e
HAM: 4-17, 0-244, 136 TS 359 feu wuw ¥ |
fFrafafea & @ =H-H g o8 @ @ giad g8 S
77

(1) H,

@2 0,

(3) NH,

4) COo,

BaSO, I 298 K W I § faewrar 2:42 x 1073 gL~
2 | foretermn ot (K ) 1 AT &

(fe=m = & BaSO,, %1 Wi g9 = 233 g mol ™)
(1) 1-08x 102 mo2 1,2
(2) 108 x 1071* mol? L2
(3) 1-08x 1071% mol? L2

(4) 1-08x 108 mol2 L2

68.

69.

70.

71.

Following solutions were prepared by mixing
different volumes of NaOH and HCI of different
concentrations :

a. 60 mL M HCI + 40 mL iVI_O NaOH

10

b. 55 mL E HCI + 45 mLL M NaOH
10 10

c. 75 mL % HCI + 25 mL % NaOH

d. 100 mL M HCI + 100 mL M NaOH
10 10

pH of which one of them will be equal to 1 ?
(1) a

(2 d
3 b
4) ¢

On which of the following properties does the
coagulating power of an ion depend ?

(1) Size of the ion alone

(2) Both magnitude and sign of the charge on
the ion

(3) The magnitude of the charge on the ion
alone

(4) The sign of charge on the ion alone

Given van der Waals constant for NHg, H,, O,
and CO, are respectively 4:17, 0-244, 1-36 and
3-59, which one of the following gases is most
easily liquefied ?

(1) Hy

(2) Oy

(3) NHj4

(4) CO,

The solubility of BaSO, in water is
2:42x1072 gLl at 298 K. The value of its
solubility product (Ksp) will be

(Given molar mass of BaSO, = 233 g mol 1)

1) 1-08x 102 mol2 L2

2) 108 x 10" mol? 1,2
(3) 1-08x 10719 mol2 .72
4) 1-08x 10 mol? L2
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72.

73.

74.

75.

76.

Xy, Yo 3R XY I 37wy foRioH SHleti &1 Fquma
1:05:1 8 | XY & fowm i wdeh
AH = - 200 kJ mol™ B | X, I 31y forirsH ot
gt

(1) 100 kJ mol ™!

(2) 800 kJ mol !

(3) 200 kJ mol !

(4) 400 kJ mol !

S MR hT TRIER HiwgaT 1 AT fohaT ST 2,
@ I Hife Atufshan & fou s1¢-o1y wa

(1) SIHearg

(2) fergem grem 2

(3) T B @

(4) SrREfdd w3

ey SAfufshan
MnO, +Cy0; + H* — 5 Mn?* + CO, + HyO

% fou wgfed et < g stfiepient & @@t o
®

MnO, C,07~ H'
1 2 5 16
2 2 16 5
(3) 16 5 2
4 5 16 2

srfufshan & F=fefaa & @ sF-H g sifieae 3ce
o o foT ITRER 7,

Ay (g) + By (g) = X, (g)
(1) = am e = g
(2) 3= dM Ud IH T
(3) T a9 @ 3= T
(4) 3= a9 g = g

aTest e wefieRtor | TENeH T ‘o’ TEfd 7
(1) T SFUp3Ti &% TRaA o

(2) T\ 3Rt & Ae Iufeud fagq-a9 @
(3) T\ 37Up3ti & e W

(4) 79 3T &% ALY RNV Tl

AH=-XkJ?

72.

73.

74.

75.

76.

The bond dissociation energies of X,, Y, and XY
are in the ratio of 1: 0-5 : 1. AH for the formation
of XY is — 200 kJ mol . The bond dissociation
energy of X, will be

(1) 100 kJ mol*
(2) 800 kJ mol*
(3) 200 kJ mol*
(4) 400 kJ mol*

When initial concentration of the reactant is
doubled, the half-life period of a zero order
reaction

(1) 1is doubled
(2) 1istripled
(3) 1ishalved

(4) remains unchanged

For the redox reaction
MnOj +Cy02” + H'—— Mn®* + CO, + H,0

the correct coefficients of the reactants for the
balanced equation are

MnO; C,07~ H'
1 2 5 16
2 2 16 5
3) 16 5 2
@ 5 16 2

Which one of the following conditions will favour
maximum formation of the product in the
reaction,

Ay(g) +By(g) = Xy(g) AH=-XkJ?
(1) Low temperature and low pressure
(2) High temperature and high pressure
(3) Low temperature and high pressure
(4) High temperature and low pressure

The correction factor ‘a’ to the ideal gas equation
corresponds to

(1)  volume of the gas molecules

(2) electric field present between the gas
molecules

(3) density of the gas molecules

(4) forces of attraction between the gas
molecules
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71.

78.

79.

80.

81.

82.

NIkl § geh! ST STERATST I Heal g3l
EEET R

(1) HNOg, NO, NH,CI, N,

(2) HNOg, NH,CI, NO, N,

(3) HNO,, NO, Ny, NH,CI

(4) NH,CI, N,, NO, HNO;

frafafega & @ sH-a o= MF63_ A T A

e g 2

1) Al

(2 B

3) Ga

(4) In

e 3@ H WIH § T@d g¢ fefaRgd § @

A Grg H WA UG b Aq=RE H feRam o

TRl & ?

(1) Zn

(2) Mg

(3) Fe

4) Cu

frafafad & @ 7 13 & o= & waTfoges Breamstt @

SHI9-91 HH TE 8 ?

(1) B<Al<Ga<In<Tl

(2) B<Ga<Al<Tl<In

38) B<Al<In<Ga<Tl

(4) B<Ga<Al<In<Tl

el & fou f=fafea & & SR-a1 wom a9 737

77

(1) weft SAfecfierres e 8 |

(2) TARKA % oramEr @i OdTeHeR  SATaRIehur
HeETd RIid & |

(3) weft ket TR TR} ST S F |

(4) FARIA <l TETieh Soieei= Ugu Tt 7 |

CIF; i W= H g 9 ‘Cl R THehl I|

AR <h! T B

1

(2) =X

(3) Th

(4) 9=

71.

78.

79.

80.

81.

82.

The correct order of N-compounds in its
decreasing order of oxidation states is

(1) HNO,, NO, NH,CI, N,
(2) HNO,, NH,CI, NO, N,
(3) HNO,, NO, N,, NH,CI
(4) NH,CI, Ny, NO, HNO,

Which one of the following elements is unable to
form MFg' “ion ?

(1) Al

(2 B

3) Ga

4 In

Considering Ellingham diagram, which of the
following metals can be used to reduce alumina ?

1) Zn

(2) Mg

3) Fe

4) Cu

The correct order of atomic radii in group 13
elements is

(1) B<Al<Ga<In<Tl

(2) B<Ga<Al<Tl<In

3) B<Al<In<Ga<Tl

4 B<Ga<Al<In<Tl

Which of the following statements is not true for
halogens ?

(1) All are oxidizing agents.

(2) All but fluorine show positive oxidation
states.

(3) All form monobasic oxyacids.

(4) Chlorine has the
enthalpy.

highest electron-gain

In the structure of ClFg, the number of lone pairs
of electrons on central atom ‘CI’ is

(1) two

(2) four

(3) one

(4) three
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83.

84.

85.

86.

v Sife wa e wife stfifmensti & et faftrear 2

(1) 5| =ife =1 ik i ared-a1mg [A]) W e
Tel &; fgdta whife ot srfufsen 1 sred-amy (Al
w it 2

(2) 9o Hife I AfHispan 1 IcAfd fopan ST wehal

2, e #ife R arfuferen o1 s &1 fomem
Hehdl B

(3) wem wife it srfufspam w1 am Afveres Hi
Frgarstt W flt T e 7 fgdm e i
Al o1 a1 SAfierRes i Frgarett W At
AT 8

(4) vem wife i efufseen w1 o sifyers i
Frgatelt | R e g; fodfia ife 6 sifwfsren
1 AT ey i Fgareti | Tl s
g

CaH,, BeH,, BaH, # 3T Whid &I %7 3

(1) CaH, < BeH, <BaH,

(2) BeH, < BaH, < CaH,

(3) BeH, < CaH, <BaH,

(4) BaHl, <BeH, < CaH,

fore feufa o w1 % arupet <A1 wean st B 2

(1) 018 g9 & faQ

(2) 1atmTd 273 KW 0-00224 L 3d a9 & fo1g

(3) 18 mL et & forw

(4) 10739 I & for

= fou U o H, S I offeie stgwen §
giad fafir fo.a1. s (emf) HHT W esmien T R

- 182V - 15V
BrOy, — BrO3 ——> HBrO

Br <T0es2v B2 “Thesv
B T R e
() BrO;
(2) Br,
(3) BrO;
(4) HBrO

83.

84.

85.

86.

The correct difference between first- and

second-order reactions is that

(1) the half-life of a first-order reaction does not
depend on [A]l); the halflife of a

second-order reaction does depend on [A]
(2) a first-order reaction can be catalyzed; a
second-order reaction cannot be catalyzed

(3) the rate of a first-order reaction does not
depend on reactant concentrations; the rate
of a second-order reaction does depend on
reactant concentrations

(4) the rate of a first-order reaction does
depend on reactant concentrations; the rate
of a second-order reaction does not depend
on reactant concentrations

Among CaH,, BeH,, BaH,, the order of ionic
character is
(1) CaH, < BeH, < BaH,

(2) BeH, < BaHl, < CaH,
(3) BeH, < CaH, < BaH,
(4) BaH,; < BeH, < CaH,

In which case is the number of molecules of water
maximum ?

(1) 0-18 g of water

(2) 000224 L of water vapours at 1 atm and
273 K

(3) 18 mL of water
(4) 1072 mol of water

Consider the change in oxidation state of
Bromine corresponding to different emf values as
shown in the diagram below :

_ 182V - 15V
BrOy — BrO3 —— HBrO

Br~

«— B
10652V 2 1595V

Then the species undergoing disproportionation
is

(1) BrO;
(2) Bry

3) BrO;
(4) HBrO
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87.

88.

89.

90.

Fr=fefea wfisfid w fomm il .
CN*,CN~, NO da1 CN

H I fopuehl Imam oTey Hif R 2
(1) CN~

(2) CN*

(3) NO

(4) CN

Frafafea o & wF-a1 woF orgeT 8 2

(1) U *eh i Fared geaeti g iy 3 sefs
Th T H UH AHA AR FECH qensti o
fifde 2 |

(2) N 9T T FAFi b fo=me

182 22 2p; 2p) 2p,

MO L R

(3) ‘& Heh H TG H P Heh HIUI FaT
I % S R |

4)  d 2 % fT m = AF YA B |

TRRA 1 A % AT T bee HEAT BT 2 | 900°C %

IR g fee TEAT § gfafdd 1 AT 3 | IR o HH

% A9 T T9cd HT 900°C 9 W =cd & T 0T

(WM RIT ST 1 HieR Ge9HH Td WA s ar

% @y feor §)

(1)
(2)

3

(4)

TREY T o (X) ¥ I ek U A=HS
A s B | AR (X) w1 Femam srewen d
3@%@?&%%@? 152 2g2 2p3%,?‘ﬁ3’a?ﬁﬁﬁ?ﬂ
A g 7

" sl 25 8

(1) MgX,
(2) MgyX

(3) MgyX,
4 MggX,

87.

88.

89.

90.

Consider the following species :

CN*, CN~, NO and CN

Which one of these will have the highest bond
order ?

(1) CN~
(2) CN”
(3) NO
(4) CN

Which one is a wrong statement ?

(1) An orbital is designated by three quantum
numbers while an electron in an atom is
designated by four quantum numbers.

(2) The electronic configuration of N atom is
1s2 2s2 Zp;lz Qp; Zp;
tol M) [T

(3) Total orbital angular momentum of electron
in ‘s’ orbital is equal to zero.

(4) The value of m for dZ2 is zero.

Iron exhibits bee structure at room temperature.
Above 900°C, it transforms to fec structure. The
ratio of density of iron at room temperature to
that at 900°C (assuming molar mass and atomic
radii of iron remains constant with temperature)
is

43
3v2

38

(1

(2)

3

(4)

<1 sl g

Magnesium reacts with an element (X) to form an
ionic compound. If the ground state electronic
configuration of (X) is 152 2¢2 2p3, the simplest
formula for this compound is

(1) MgX,
@) MgyX
(3)  MgyXs
4)  MgsX,
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91.

92,

93.

94.

95.

96.

97.

T HU H1 9gd § AN o [ g ATSgSA H fRd
AT 9 HUSROT fShaT ST Tehal B 2

(1) —80°C

(2) -196°C

(38) —120°C

(4) -160°C

ToreH TeRTT-HYINYT T TS 7gT Hehetd! ?
(1) Tieei®

(2) TEFg

(3) IH Hew SEAfEn

4) 3T

FIRTHT T8 & NAD* 6t yfirewt 1 2 2

(1) IE T Sa aTesh o &9 § hE il 8 |

(2) ggq‘ﬁ.ﬁ.é@wﬁsqu%ﬁm@@a
|

(3) 9% Ush TATSH o &9 § Hd T 3 |

(4) ggmmaﬁawé;%rqaﬁnséﬁ?mﬁ
|

frafaflga @ @ Si9-a1 9 iyt § whifq =g

@ % foru seeerh @ 2

(1) =ifsTm

(2) HefEw

(3) AfEm

(4) Ffesrm

frafafga @ @ ®-51 ey Iy 6 T S & 9

T Fhe wrery quitan @, fem @8 ff THgm % fom

T Sfia =5k T 7T R Tehdl ?

1)  IFH7

(2) el

(3) &g

(4) T

qTeql g I8 k1 Ay g @ @ fem w9 4

TR ?

(1) %™

2) g A

(3) i

(4) s 3N Hg gt

g0 a8 2

(1) T T JHb I g YA hrgehl o H1Y HATH

(2) @ T Wb I Teh 7 % 1Y T

(3) Uh W Al % o1 R Wi B ol o I7Si
1Y HAH

(4) I GoRA IR BrEeE

91.

92.

93.

94.

95.

96.

97.

Pollen grains can be stored for several years in
liquid nitrogen having a temperature of

(1) -80°C

(2) -196°C
(3) -120°C
(4) -160°C

Oxygen is not produced during photosynthesis by
(1) Nostoc

(2) Cycas

(3) Green sulphur bacteria

(4) Chara

What is the role of NAD' in cellular

respiration ?

(1) It functions as an electron carrier.

(2) Itis anucleotide source for ATP synthesis.

(3) It functions as an enzyme.

(4) Ttis the final electron acceptor for anaerobic
respiration.

Which of the following elements is responsible for

maintaining turgor in cells ?

(1) Sodium

(2) Potassium

(3) Magnesium

(4) Calcium

Which one of the following plants shows a very
close relationship with a species of moth, where
none of the two can complete its life cycle without
the other ?

(1)  Yucca

(2) Banana

(3) Hydrilla

(4) Viola

In which of the following forms is iron absorbed
by plants ?

(1) Ferrous

(2) Free element

(3) Ferric

(4) Both ferric and ferrous

Double fertilization is

(1) Fusion of one male gamete with two polar
nuclei

(2) Fusion of two male gametes with one egg

(38) Fusion of two male gametes of a pollen tube
with two different eggs

(4) Syngamy and triple fusion
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98.

99.

100.

101.

102.

103.

us foesht wrot g = med B ek 99 R B W
(uereq) Toram T o, FEIT UE forei WA | o we
¥ foemm 2 | g forom wrafaa 8 2

(1) &t FH

(2) < TS

(3) Co-667

(4) SEHd

et I9AM % foIw ergafirRa: waaid el %
Yadd % SR § G % Gedichd I YRd H i
TS ITHERT § 2

(1) aeifes wa SRenfies SIgEya™ uiwg (CSIR)
(2) AR giETeH TgE9H Affd (RCGM)

(3) NN AT sHe™ uRwg (ICMR)
(4) STgafe METEER Youre |fifd (GEAC)

HHE AR § €.UH.T. & Teh ghe & HavH & fog
frfafga & & SH-A1 d9 Fm=IG: YgF fRaT S
77

(1) Tivafswe

(2) A5

(3) WIETEE (I d15WH)
(4) pBR 322

JEdE wrafE St E@medl grr fRet <@ am Iweh
A <l o rgEfta o SawwreE % SuET o
el ST 7 ?

(1) =rETEE (S9 5eg)

(2) J9-3AqEed

(3) Ja-3gEA

(4) SAg-3wur

UifeTRS *fEen AfufHa (PCR) § <Ol &1 @&l A
TR ?

(1) 3o, foeawon, faepdiem

(2) forpdtentor, foeawor, sfiem

(3) foreawor, fopefietor, st

(4) fToepdieto, orfiem, forao

&g g 1 YT :

(1) Fyx AR ek —  fg8et shid
(2) dw=. qH —  ORGhHT

(3) TsSISITEA - e s
(4) . A= — B

98.

99.

100.

101.

102.

103.

A ‘new’ variety of rice was patented by a foreign
company, though such varieties have been
present in India for a long time. This is related to

(D

Sharbati Sonora

(2) Lerma Rojo

(3) Co-667

(4) Basmati

In India, the organisation responsible for

assessing the safety of introducing genetically
modified organisms for public use is

(1) Council for Scientific and Industrial
Research (CSIR)

(2) Research Committee on Genetic
Manipulation (RCGM)

(3) Indian Council of Medical Research (ICMR)

(4) Genetic Engineering Appraisal Committee
(GEAC)

Which of the following is commonly used as a

vector for introducing a DNA fragment in human
lymphocytes ?

(1
(2)
(3) Retrovirus
(4) pBR 322

Use of bioresources by multinational companies
and organisations without authorisation from the
concerned country and its people is called

Ti plasmid
A phage

(1) Biopiracy

(2) Biodegradation

(3) Bio-infringement

(4) Bioexploitation

The correct order of steps in Polymerase Chain

Reaction (PCR) is

(1) Annealing, Extension, Denaturation

(2) Denaturation, Extension, Annealing

(3) Extension, Denaturation, Annealing

(4) Denaturation, Annealing, Extension

Select the correct match :

(1) Fgx Recessive parent — Dihybrid cross
(2) T.H.Morgan — Transduction
(3) Ribozyme — Nucleic acid

(4) G. Mendel — Transformation
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104.

105.

106.

107.

108.

109.

froha 1 8 2

(1) =g ¥ifdes T J&f v SAaurt & 8

(2) dYHE T 98 9UE Sl Sfig Wl @ % fou
E1IFiY

(3) e & watawer d wufi Sfasw Fres

4) TS S grn fwis 8 st e, Sl 98
a1 2

frfafed 3 @ ®F- w s 9w 2 2

(1) CO,

(2) SO,

(3) CO

(4) Og

Fefadt & o Srfuma B 2

(1) =L

(2) A i Bl dTd AT hl TE

(3) HAIAL

(4) U @™ T fecdi o AW arell ht TE

forva e feam et W ST R 2

(1) 213713

(2) 16 faarr

(3) 53

(4) 22373

frfafaa stfeet @ frm TR o1 wiitfeafashim fifire

e feRRm STa 2
foeffore Susierar : 120 g
i UM : 60 g
1R 3cUeh : 10 g

(1) St & e

(2) w1 e fitfre

(3) ST 1 3 fRfre

(4) ST 1 dur e

THaIEed W, fH % fashdiewr e smfvaes
e i fegfrd & frefafga & @ w9 o=
3IUTH o ®9 H B KAl B ?

1) Cl

(2) Fe

(3) rEA

(4) ST

104.

105.

106.

107.

108.

109.

Niche is
@}
(2)

the physical space where an organism lives

the range of temperature that the organism
needs to live

3

all the biological factors in the organism’s
environment

(4)

the functional role played by the organism
where it lives

Which of the following is a secondary pollutant ?
(1) COgq

(2) SOgq

3) CO

(4) Og

Natality refers to

(1) Birth rate

(2) Number of individuals leaving the habitat
(3) Death rate

(4) Number of individuals entering a habitat

World Ozone Day is celebrated on
(D)
(2)
(3)

(4)

What type of ecological pyramid would be
obtained with the following data ?

Secondary consumer : 120 g

215" April
16th September
5% June

gond April

Primary consumer : 60 g
Primary producer : 10 g
(D
(2)
(3)
4)

Pyramid of energy
Upright pyramid of numbers
Inverted pyramid of biomass

Upright pyramid of biomass

In stratosphere, which of the following elements
acts as a catalyst in degradation of ozone and
release of molecular oxygen ?

(1 Cl
(2) Fe
(3) Carbon

(4) Oxygen
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110.

111.

112.

113.

114.

115.

116.

ffafiga & @ ST gW 777 €9 ° gafad & 2

(1) ABO & &g : HEIWIed

(2) XO R fom frufmr . feger

(3) HEH HS WAVl : Wgforhodl

(4) dAw=. qH ;. HEAEAl

g HUH I T

(1) e ot ueh foifew asmfves gru faspfea fopam
o |

(2) TATEHITET TG § I Ad 8 |

(3) “Tgerar’ wee w1 i Shehfel TeEa 7 foma |

(4) URSHHY I TN TH. FeedaH 3 61 off |

.UA.T. % AdEReht vfasfa w1 i ymr gevem
fered wria T o 2

(1) Sfaro &

(2) W H

(3) whash A

(4) foump

g g i g

(1) ks xR mai=| - Jud.

(2) W BeEd IR Uh. WEd — 59 dl3ad

(3) Uerh IhE — Qeiwim FEH
(4) Tho™ Johe AT Add AHAIS — o9 ST

(1) ¥ fawmsH gra

(2)
(3)
(4)

frafafga o o forat 3gs Seq #1a § Shad T 91
& g B R 2

(1) ©heBd

(2) ™

(3) g wfivfiw

(4) Yd¥ar

frafdfga & @ S9-a wm H Sfeawa & w9 A
ieferd <t § T Hiied g3 ?

(1) A aTel 3F=d:

(2) defia Te=a

(3) W fohe

(4) THOHARAA

110.

111.

112.

113.

114.

115.

116.

Which of the following pairs is wrongly

matched ?

(1) ABO blood grouping Co-dominance

(2)  XO type sex Grasshopper
determination

(8) Starch synthesis in pea Multiple alleles

(4) T.H. Morgan Linkage

Select the correct statement :

(1) Punnett square was developed by a British
scientist.

(2) Spliceosomes take part in translation.

(3) Franklin Stahl coined the term “linkage”.

(4) Transduction was discovered by S. Altman.

The experimental proof for semiconservative

replication of DNA was first shown in a
(1) Bacterium

(2) Plant

(3) Fungus

(4) Virus

Select the correct match :

(1) Alfred Hershey and -
Martha Chase

Matthew Meselson
and F. Stahl

Alec Jeffreys

TMV

Pisum sativum

(2)

3

Streptococcus
pneumoniae
Francois Jacob and
Jacques Monod

4)

Lac operon

Offsets are produced by
(1) Mitotic divisions
(2) Parthenocarpy

(3) Meiotic divisions
(4) Parthenogenesis

Which of the following flowers only once in its
life-time ?

(1) Jackfruit

(2) Mango

(3) Bamboo species

(4) Papaya

Which of the following has proved helpful in
preserving pollen as fossils ?

(1) Cellulosic intine
(2) Oil content

(3) Pollenkitt

(4) Sporopollenin
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117.

118.

119.

120.

121.

122,

123.

feeiosht @ 8 feeflaes Sgem it wiien fored Saaw
B E 2

(1) Tagd T

(2) HISH

(3) sfideer favwsan

(4) el fawsan

95 Ued -8 7 o fgdraes afg o o foegpar @
Bt ?
(1)
(2)

gofaTel} STaastsh
NERIR

(3) =™

(4) HEheH

STehtehe, fehdeRT TUTRUT & ?
(1) sraefes qa

(2) YT A

(3) a1

(4) e

vagA-ge e Bt € 2
(1) TEaa-3ccAdsh Aalgug o
(2) HEER qredt §

(3) wEvgEug |

(4) omH Segig §
eyl ufgar sl gl 8 2
(1) uRaw

(2) doPe

(3) STRIca=I

(4)  IT=dEcerE

Fr=fefiga @ @ wF-a1 %9 &g ® 2

(1) 71Fefoder ts  foudeiemy aenm g, Sk
GedlfF7 T THSIST] Il 7 |

Fdeed Sasist € |
sEasifort # fiemve swernm fufa g ufeg
& = |

TrEHe N f7gd GHI T AL a4 TR
B 7 |

AT HIA I AT ;

(1) ST 1 G-y STSTHEHET 4 2 |

(2) TATSHSE § Uey I+ 3N Qe T80 i hi
AT F |

Sl 3 Ted S o FS& § hifsres i
Jufeyrd Bt B |

AT Sl SeRt gt Sasrar i wifdeRr |

FFARTRIC Teh WIS & |

(2)
3

(4)

3

4)

117.

118.

119.

120.

121.

122.

123.

Secondary xylem and phloem in dicot stem are
produced by

(1) Vascular cambium

(2) Phellogen

(3) Apical meristems

(4) Axillary meristems
Plants having little or no secondary growth are
(1) Deciduous angiosperms
(2) Conifers

(3) Grasses

(4) Cycads

Sweet potato is a modified

(1) Adventitious root

(2) Tap root

(3) Stem

(4) Rhizome
Pneumatophores occur in

(1) Free-floating hydrophytes
(2) Carnivorous plants

(3) Halophytes

(4) Submerged hydrophytes
Casparian strips occur in

(1) Pericycle

(2) Cortex

(3) Epidermis

(4) Endodermis

Which of the following statements is correct ?

(D

Selaginella is heterosporous, while Salvinia
is homosporous.

(2) Horsetails are gymnosperms.

(3) Ovules are not enclosed by ovary wall in
gymnosperms.

(4) Stems are usually unbranched in both
Cycas and Cedrus.

Select the wrong statement :

(1) Mushrooms belong to Basidiomycetes.

(2) Pseudopodia are locomotory and feeding
structures in Sporozoans.

(3) Cell wall is present in members of Fungi
and Plantae.

(4) Mitochondria are the powerhouse of the cell

in all kingdoms except Monera.
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124. T [ ® < 78 Hel o1 Ty 11 i 7gl @ fiem v
IR = for wu fasmedt & @ @t faswew &1 =
Hifs

&y I &y 11

a. UQUE™ i 9 qiedl o St
U 1 Teh LI |

b. el i, e ° Ui g |eft s
1 fafergeeh UM Td T 3R
IThT Tga T grmar & fore
e quM X g TH g |

c. EUEEE il UH TF W qred T Bl
@t 3 TR T T

AT T TG T 8 |

d. duE  iv. e Y S s g
(SheTet) 3R 37 foehed &1 & S

fafirm afent <t vgem & o
TEH 2d 3 |
a b c d
(1) i i i iv
(2 i iv i i
3) i iv i i
(4) iii  iv i ii
125. fraffea o @ frad Frghaeaa qen stdgfawsH
< g SIS Sfesiid €9 § 3099 21d & ?
(1)  7eeaiar
©2) TIRwa
(3) =IEanT
(4) @FHTEH T
126. Tuer WAt fohed Bid § 2
(1) Giseg
(2) ™
(3) =i
4) 9=7Eg
127. fr=fafed & @ ®F-a1 7o77 &9 § gafera 8 2
(1) foremfies =eeiem) — R e
(2) <E g — TR
(3) UHHAMNGh JHE  —  GHrasHiar
(4) THDIN Sfa —  FaRAT

124.

125.

126.

127.

Match the items given in Column I with those in
Column II and select the correct option given
below :

Column I Column I

a. Herbarium i. Itis aplace havinga
collection of preserved
plants and animals.

b. Key ii.  Alist that enumerates
methodically all the
species found in an area
with brief description
aiding identification.

c. Museum iii. Is a place where dried and
pressed plant specimens
mounted on sheets are
kept.

d. Catalogue iv. A booklet containing a list
of characters and their
alternates which are
helpful in identification of
various taxa.

a b c d
(1) i ii i iv
2) i iv iii i
3 i iv iii ii
(4) il iv i ii

After karyogamy followed by meiosis, spores are
produced exogenously in

(1) Alternaria

(2) Agaricus

(8) Neurospora

(4) Saccharomyces

Winged pollen grains are present in

(1) Cycas

(2) Mango

(3) Mustard

(4) Pinus

Which one is wrongly matched ?

(1) Biflagellate zoospores — Brown algae
(2) Gemma cups —  Marchantia

(8) Uniflagellate gametes — Polysiphonia
(4)  Unicellular organism - Chlorella
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128. IhU & g1 AR FHETcHs a1 T E ? 128. The two functional groups characteristic of
(1) T 3 Al sugars are
(2) HETA I Biehe (1) carbonyl and methyl
(3) ErEseifead R Afye (2) carbonyl and phosphate
(4) el 3R BIFS e (3) hydroxyl and methyl
129. frffs § & Fa ©h wEEEwET ) wEm| (@) carbonyl and hydroxyl
S7f¥fsRan &1 3ot 787 2 2 129. Which of the following is not a product of light
(1) NADH reaction of photosynthesis ?
(2) NADPH (1) NADH
(3) ATP (2) NADPH
(4)  Oxygen (3) ATP
130. F=fcfaa & ¥ HH-91 Th Tachgehl 787 & ? (4) Oxygen
(1) #EHEFIRETT 130. Which among the following is not a prokaryote ?
(2) Tid (1) Mycobacterium
(3) dIumrsdis (2) Nostoc
(4) st (8) Saccharomyces
131. T i ieferar e sofem 787 &t 2 (4)  Oscillatoria
(1) Y™ A 131. Stomatal movement is not affected by
(2) O, digar (1) Light
(3) AW & (2) Ogy concentration
(4) COq Higar 9 (3) Temperature
132, Tiiesht ity g ww o & 2 (4) COgy concentration
(1) @t Hﬁq,—[a;ﬁ ¥ T H 132. The Golgi complex participates in
(2) Gﬁa‘rtge,ﬁ 4 ggeq o (1) Formation of secretory vesicles
(3) FHT 3TFA % Y= H (2) Respiration in bacteria
(4) UHH o7 & Gishaor 4 (8) Fatty acid breakdown
133. gb—@;ﬁ e 1\?1? frefefiaa & @S- 98 § 2 (4) Activation of amino acid
(1) s afmen? 133. Which of the following is true for nucleolus ?
(2) ¥ dH §1 H 9T T 7 | (1) It is a membrane-bound structure.
(3) fawrfsra gt ifyremret # o2 s g & | (2) It takes part in spindle formation.
(4) ¥ TEAEmA RNA S0l & fhamiia Tod (3) Larger nucleoli are present in dividing cells.
2 | (4) It is a site for active ribosomal RNA
134. I TS TORET 1 JUFR fohd Sreaeem H 3TEy synthesis.
ST ? 134. The stage during which sepalratign of the paired
1) fmg homologous chromosomes begins is
) & (@)) D?plo‘ten(‘e
(3) T (2) Diakinesis
@) I (3) Pachytene
(4) Zygotene
135. =9 I Iet H TY HE B & ? 135. Stomata in grass leaf are
(1) Rl (1) Kidney shaped
(2) SURRIEZN (2) Rectangular
(3) SRR (3) Dumb-bell shaped
(4) BIABHR (4) Barrel shaped

HLAAC/KK/Page 31 T 1d & foTU T / SPACE FOR ROUGH WORK gcol legedunia



136.

137.

138.

139.

140.

141.

et % fuvs gera: foress a4 310 8 2
(1) DNATE RNA

(2) e 3 g SER

(3) WA e fafus

(4) Y& TsaE™ Ud RER

Y § DIF-HT AT Te7d & ?
(1) TAEHIATE HINTRTTAT H T Bl B |

(2) TARHIATE q9 aF BT & 59 I 39 FESSH
TS T 33M * fI NAD firerar Tear 2 |

TCA <% o USTSH IAR(Uh! & 4T # T
A 2 |

Tl WICHINART Eehfiehr 6 Ta
foght & afea g 2

feafafgg § @ S99 wfnfys see aH9 <afa=ma
%! afild s 8 ?

3

4)

(1) reledt, fgemed, fovmedt

(2) UREE, THARE, HHEA

(3) Triad, fgamEdt, et

(4) reded!, fgsmed, fowmad

i ARSISICIRCREIC I 1P

(1) TaEm — o Torg

(2) IUWETohg! TRE — L-3hRIT R
(3) owgw EE - fgme % g
(4) wEUER EA - UfFRREEl % 3TSh

6 UgraTehe e (RER) # fmfafga & @
HH-H T 73T Bt ?

(1)  TEH I TATEHIHATH

(2) Tehd UCTES T fogeH

(3) IEH T I

(4) wiEpIfafie dzayo

g0 ¥ UEEM T mRNA ¥ T g St THae
uiferierse & w3 U o @ | TEEEm el U

STEATSTT ! FIT HEd § ?
(1) wgaei fig

(2) vafeee™

(3) wEE

(4) hfgew

136.

137.

138.

139.

140.

141.

Nissl bodies are mainly composed of

(1) DNA and RNA

(2) Nucleic acids and SER

(3) Proteins and lipids

(4) Free ribosomes and RER

Which of these statements is incorrect ?

(D
(2)

Glycolysis occurs in cytosol.

Glycolysis operates as long as it is supplied
with NAD that can pick up hydrogen atoms.

3

Enzymes of TCA cycle are present in
mitochondrial matrix.

(4) Oxidative phosphorylation takes place in
outer mitochondrial membrane.
Which of the following terms describe human

dentition ?

(1) Thecodont, Diphyodont, Heterodont
(2) Pleurodont, Monophyodont, Homodont
(3) Thecodont, Diphyodont, Homodont

(4) Pleurodont, Diphyodont, Heterodont

Select the incorrect match :

(1) Allosomes — Sex chromosomes

(2) Submetacentric — L-shaped chromososmes
chromosomes

(3) Lampbrush — Diplotene bivalents
chromosomes

(4) Polytene — Oocytes of amphibians
chromosomes

Which of the following events does not occur in
rough endoplasmic reticulum ?

(1) Protein glycosylation

(2) Cleavage of signal peptide

(3) Protein folding

(4) Phospholipid synthesis

Many ribosomes may associate with a single

mRNA to form multiple copies of a polypeptide
simultaneously. Such strings of ribosomes are
termed as

(1) Polyhedral bodies
(2) Plastidome

3)
4)

Polysome

Nucleosome
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142,

143.

144.

145.

146.

T T HI9-AT U T AT 7gT 8 2
(1) EEATHS S

(2) TR

(3) Ydicish

(4) AR

TS Tl % Tk X URH § X-HerH I1EE § | Ag [URH
fop SsTrTa & 2

(1) <had |

(2) had drar-aifet /Aot &

(3) <hawt ghmEI H

(4) i T g gl |

M € S % TgER fowm i frafafy fea TR
Bt & 2

(1) ¥ees™

(2) <ifieh gva T&Y qiEdd (Serorredt fafiwerar)
(3) WEU e

(4) g IcarEd

T S & RIfET =9 HT1 8 AGGTATCGCAT 2 |

3G g IIRad mRNA 1 Hefod sh0 =1 8T 2
(1) UGGTUTCGCAT
(2) ACCUAUGCGAU
(3) AGGUAUCGCAU
(4) UCCAUAGCGUA

ey 18 & 7S 9el o1 wary 11 9el § faam il
IR o feu MU fawmedwi § @ @E? fawew w1 W
Hifsg :

&Twy [ ey I1
a. WWWQH i TR o7 %R o foere
b. @l g ii. geshid wrerwen
c. kgaE iii. drafiug yraen
a b c
1 i i ii
(2) ii i i
(3) iii ii i
(4) iii i ii

142.

143.

144.

145.

146.

All of the following are part of an operon except
(1)
(2)
3)

structural genes
an enhancer

an operator

(4) a promoter

A woman has an X-linked condition on one of her
X chromosomes. This chromosome can be
inherited by

(1) Only sons

(2)  Only grandchildren

(3)  Only daughters

(4) Both sons and daughters

According to Hugo de Vries, the mechanism of
evolution is

(1) Saltation

(2) Phenotypic variations
3)
4)

AGGTATCGCAT is a sequence from the coding
strand of a gene. What will be the corresponding

Multiple step mutations

Minor mutations

sequence of the transcribed mRNA ?
(1) UGGTUTCGCAT
(2) ACCUAUGCGAU
(3) AGGUAUCGCAU

(4) UCCAUAGCGUA

Match the items given in Column I with those in
Column II and select the correct option given
below :

Column I Column II

a. Proliferative Phase i. Breakdown of

endometrial
lining

b.  Secretory Phase ii. Follicular Phase

c.  Menstruation iii. Luteal Phase

a b c

1 i iii ii

(2) ii iii i

(3) iii ii i

(4) iii i ii
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147.

148.

149.

150.

151.

frefefga 3 & fafercan fosm 7 wfostfas & scure
Q. wmfse i S TREAie har sgan SEn
Tt B ?

(1) @@
(2) Stiferar
(3) wRHIRH
(4) wHAfTSH

frefafaa & sH-w1 ‘STeea™ wewr § 737 31 ?

(1) fes 3qaq

(2) aHEafde ITH
(3) TS THRT UTeh
(4) 9 d&%

T I H & TS Al o &R 11 bl wel 3 e hifs
3 i feu U fosedi & @ @g fawew =1 w9

HIRTT -

&y [ &y 11
a.  gUmN i. UV-B fafero
b. &fed <efha i, S
c. Temrad (VN saEeE) il W9 dgig
d. FuEd iv. smufirse faem
a b c d
1) i iii iv ii
(2) i iv i ii
(3) i i iii iv
4) i ii iv iii
T o h TG g5 STl §
(1) ST SAfSe FR A § 0 8 2 |
(2) g‘l:f&i'q Td TYE SAfe e H OsUeR g
|
(3) THYd e Sem SAfseat ¥ 31ferek 2id 2 |
(4) Y A T Al 8§ HA 8d @ |

“ien” ek I I WY o foRE 9T § wTed Bt ® 2

(1) e
(2) S d
(3) Hal "
(4) ufwaia

147.

148.

149.

150.

151.

Which one of the following population
interactions is widely used in medical science for
the production of antibiotics ?

(1) Mutualism

(2) Parasitism

(3) Commensalism

(4) Amensalism

All of the following are included in ‘Ex-situ

conservation’ except

(1) Sacred groves

(2) Botanical gardens
(3) Wildlife safari parks
(4) Seed banks

Match the items given in Column I with those in
Column II and select the correct option given
below :

Column I Column I
a. Eutrophication i. UV-Bradiation
b.  Sanitary landfill ii. Deforestation
c. Snow blindness iii. Nutrient
enrichment

d. Jhum cultivation iv. Waste disposal

a b c d
1 i iii iv ii
(2) il iv i ii
3) i i iii iv
4 i ii iv iii

In a growing population of a country,

(1) reproductive individuals are less than the
post-reproductive individuals.

(2) reproductive and pre-reproductive
individuals are equal in number.

(8) pre-reproductive individuals are more than
the reproductive individuals.

(4) pre-reproductive individuals are less than

the reproductive individuals.

Which part of poppy plant is used to obtain the
drug “Smack” ?

(1) Latex
(2) Roots
(3) Flowers
(4) Leaves
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152.

153.

154.

155.

156.

157.

Fr=fefiga et o & Ierewn °§ ¥ 77T faweq
T =TI HINT :

(1) =TEs, AHd Ud Hidr &1 &ed

(2) <HEE, AT Td <idl 1 AieTsh

(3) TMd, TWCE Td =idl o 37U

(4) ATFIH, TTCE Ud HH hl G

Frefefaa § @ si-an waufoen U 787 8 2
(1) ®HI Gitrny

(2) USASTSHL TA

(3) wifefim

(4) fafeform

frE T § "Rt g EENG T Sk ShRUT AR
arfeft § fereprelt sy 39 BT 8 2

(1) UehRufeE

(2) Torad T

(3) ufahicufam

(4) mffafag

39 % T W FARU H ZEhH TS WH &
foraehl gfg & Hro B 7 2

(1) faerfim A

(2) ToeIftd By,

(3) feafm D

(4) faafm E

I HIGH ok YU hI Y TGEAT T GHEA
foperehT g8 @ ?

(1) RESEnI

(2) @t fowm

(3) HHSITAAT

(4)  Frgeet faferm

Frafafaa siftraeett § @S-8 a7s7 § Sfm ant i
ERIECA R A
TTferar
FggHTferar
EREENIS]
a1quf weTferan
CESIEIENIUIT
a,bQﬁic
b,dTd e
b,cQ_Oie
a,cQ"cie

°© a0 TP

(1)
(2)
3
4)

152.

153.

154.

155.

156.

157.

Among the following sets of examples for
divergent evolution, select the incorrect option :

(1)

Heart of bat, man and cheetah

(2) Brain of bat, man and cheetah
(3) Forelimbs of man, bat and cheetah
(4) Eye of octopus, bat and man

Which of the following is not an autoimmune
disease ?

(1) Rheumatoid arthritis

(2) Alzheimer’s disease

(3) Psoriasis

(4) Vitiligo

In which disease does mosquito transmitted
pathogen cause chronic inflammation of
lymphatic vessels ?

(1) Ascariasis

(2) Ringworm disease

(3) Elephantiasis

(4) Amoebiasis

Conversion of milk to curd improves its

nutritional value by increasing the amount of

(1) Vitamin A
(2) Vitamin By,
(3) Vitamin D
(4) Vitamin E

The similarity of bone structure in the forelimbs
of many vertebrates is an example of

(1) Analogy

(2) Convergent evolution
(3) Homology

(4) Adaptive radiation

Which of the following characteristics represent
‘Inheritance of blood groups’ in humans ?

a. Dominance

b Co-dominance

c.  Multiple allele

d. Incomplete dominance
e Polygenic inheritance

(D)

a,bandc
(2) b,dande
3) b,cande
(4) a,cande
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158. EHdT sl S9T W & fou 39U M-8 giHE @ifdd | 158. Hormones secreted by the placenta to maintain
Exnll % ? pregnancy are

(1) hCG, hPL Q’@Tﬂ A, srffreeife (1)  hCG, hPL, estrogens, relaxin, oxytocin
(2) hCG, hPL, progestogens, estrogens

(2) hCG, hPL, TSN, TEISH

(3) hCG, hPL, progestogens, prolactin
(3) hCG, hPL, YiSiEie, Tetfaed

(4) hCG, progestogens, estrogens,

(4) hCG, TSEEINH, TEISH, THhIeHES glucocorticoids
159, TiEREE e 159. The contraceptive ‘SAHELI
(1) increases the concentration of estrogen and

(1) ®ies § TEISH h "igdl H el @ T prevents ovulation in females.

SrSteE i Uhell 7 | (2) isanIUD.
(2) T IUD 21 (3) Dblocks estrogen receptors in the uterus,
(3)  TieRr Q‘\Ca?ﬂ T F g FA R wE e preventing eggs from getting implanted.

F A9 1 A 2 | (4) 1is a post-coital contraceptive.

(4) TH TE-AYT THARIEH 7 |

160. The amnion of mammalian embryo is derived

from

160. Taagrh qor £ YurTEl %@c{ Joo fhad ST R 2 (1) endoderm and mesoderm

. . (2) mesoderm and trophoblast
(1) AJETHET U AEISHEN
(3) ectoderm and mesoderm

(2) YEISTHER Td TYhHeh @)

ectoderm and endoderm
(3) TEIca= Ud HEISE&

(4) e Ud Saeca 161. The difference between spermiogenesis and
spermiation is

(1) In spermiogenesis spermatozoa are formed,

161. EHIUSHA TF IEhUREH (Tafiuee) § I = 7 ? while in spermiation spermatids are
(1) YESHA B SRV §9d 8, Sefh IEhEE § formed.
Waqﬁ ) (2) In spermiogenesis spermatozoa from sertoli

cells are released into the cavity of

(2) IERISEA H SRS T |l IR &
o Aferist A R § WA A R,

seminiferous tubules, while in spermiation

spermatozoa are formed.

Rl e H Rl TR (3) In spermiogenesis spermatids are formed,
(3) IHISHA H SHINY S &, Selleh JhOEA | while in spermiation spermatozoa are
IERTY] A 2 | formed.
(4)  IHIISHA I THT T1d &, sEth HEARE I (4) In spermiogenesis spermatozoa are formed,
Waﬁ 1 T SRR I NExCE while in spermiation spermatozoa are
TRrret B e F g 2T 2 | released from sertoli cells into the cavity of

seminiferous tubules.
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162. f=fefaa o & ®H-A1 gHH WA o7 ¥ =Ycaa 8a1 | 162. Which of the following is an amino acid derived

3?
(1)
(2)
(3)
(4)

TFSTEHH
TSI
T
ufezatia

hormone ?

(1) Ecdysone

(2) Estradiol

(3) Epinephrine

(4) Estriol

163. Frfefga § @ SH-dl ST S19er & 9% SE @ 163. Which of the following structures or regions is

T w9 & qfEa § 2 incorrectly paired with its function ?
. . L (1) Limbic system :  consists of fibre
(1) fatoss T : aﬂaﬁa;?‘}ﬂ‘_’ﬁ fea .i% tracts that
f?slﬁﬁ & Eﬁ g | Sred interconnect
g, ifd 1 Frsor e | different regions of
) . brain; controls
(2) FEAIATE : fom=m gt 1 3eareq wd movement.
d9H, qadgqT I1H bl .
. = (2) Hypothalamus :  production of
A0 LT | releasing hormones
(3) UgWT el : e T wed uREs qitedt and regulation of
2 fr temperature,
T T | hunger and thirst.
(4) HdE haAem  : SC T IE AR ATl (3) Medulla oblongata : controls respiration
W1 e aTet qgaii <l ug | and cardiovascular
reflexes.
. S (4) Corpus callosum : band of fibers
164. JEEI R L USRS Rl connecting left and
?? right cerebral
. hemispheres.
1) fer & % = emispheres
(2) ormEiE ESIEED qferr gra 164. The transparent lens in the human eye is held in
(3) UENIH H Y I3 T g its place by
@) e FE A 4 ST S — (1) ligaments attached to the iris

(2) smooth muscles attached to the iris

(3) ligaments attached to the ciliary body

165. f=fafga & @ foem gm it sifemgirar & gex (4) smooth muscles attached to the ciliary body

T 3 ?
S . 165. Which of the following hormones can play a
1) T TSI significant role in osteoporosis ?
(2) UEISH U HeATslES gEA (1) Progesterone and Aldosterone
(3) Ucereld Ud Yaifded (2) Estrogen and Parathyroid hormone
.. . (3) Aldosterone and Prolactin
(4) YUATsUisS BHM Ud Siedfeed

(4) Parathyroid hormone and Prolactin
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166. f=fafiad § & sia-an foered saw: ga 3 amaehifa
T H%el sl <M ! 3fed &9 & g1 8 2
(1) voEfer i g 4 fuesdr; v Hag °
Aferehdr
(2) Yau! Tag § 3Tirekar; yaEeT ° Sy
(3) @l H MY; WA Adg | HH
(4) vaul Tag | SHl; TeEiTeRT § e

167. T I 9 € T8 Hel 1 Ty 11 1 7el ¥ e i
IR = few MU fowmewt @ @ @E? famew w1 =

T

(1)
(2)
(3)
(4)

&ard [ T g 11

Tt s i. oW 31fie wg ¢ o
& o=

fgaeft e i, g o T g
T & o

AT HUMEHT  iii.  qrfed 3ifeie Ta arfed
frem & o=

a b c

i iii i1

i il i1l

iii i i1

il i iii

168. T I § < T8 Hel 1 vy 11 h1 7el ¥ fye i
3t fiw few U fashedt @ ¥ &gt foaew &1 WA
Hifu

(D
(2)
3
(4)

&y 1
S A i.
A vaEH guad ii.

TEy Il
2500 — 3000 . <.
1100 — 1200 fir.=f.

CIPLE]
:vawm gifera iii. 500 — 550 fr. <.
CIPLE]

CCIN LA D iv. 1000 — 1100 fir.&ft.
a b c d

i i iv ii

i iv ii iii

i i iv

iv iii ii i

166. Which

167.

168.

of the

following

options correctly

represents the lung conditions in asthma and

emphysema, respectively ?

(D

(2)

3

(4)

Increased number of bronchioles; Increased

respiratory surface
Increased

respiratory

surface;

Inflammation of bronchioles

Inflammation of bronchioles;

respiratory surface

Decreased

respiratory

Decreased

surface;

Inflammation of bronchioles

Match the items given in Column I with those in
Column II and select the correct option given

below :
Column I
a. Tricuspid valve 1.

(D
(2)
3
(4)

Bicuspid valve ii.

Semilunar valve iii.

a b c
i 1ii i
i il iii
iii i i
i i 1ii

Column II

Between left atrium
and left ventricle

Between right
ventricle and
pulmonary artery

Between right
atrium and right
ventricle

Match the items given in Column I with those in
Column II and select the correct option given
below :

(D)
(2)
3
(4)

Column I
Tidal volume

Inspiratory Reserve
volume

Expiratory Reserve
volume

Residual volume

a b c
iii i iv
i iv i
iii i i
iv 1ii i

Column I1
i. 2500 — 3000 mL
ii. 1100 — 1200 mL

iii. 500 — 550 mL

iv. 1000 — 1100 mL
d
ii
iii
iv

i
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169.

170.

171.

172.

frafafaa @ @ wH-H Jet FHifvnd sy ' 3
T3 § Wgg hidl & ?

(1)  ToISHT SHITTHY

(2) R (TTeTIE) IR

(3) T Hifdrepd

(4) fixfi Sifsrenrd

ey 18 &) 78 9e o ward 11 1 9e & fiam hifse
IR = few MU fowmewt @ @ @E? famew w1 =

HIT

ey [ &y 11

a.  IESHSH i OO HqeH

b. TAGRH ii. T Yerehl

c Qv_{ﬁﬂ iii.  wfceen fsanfafe
a b c

1 i ii iii

@2 i iii ii

(3) iii ii i

(4) ii iii i

ffafigs § 9 sreERes yau9 fawr 1 Iesw =
2?
(D
(2)

oferermRran

CICNE

(3) UIIE

(4) aTawhIfd

hepTel Ut T W ke wewequl 8 Fifh I8
(1) e wdidies & sesht 39 fhamsficr st 2 |
(2) Uffea dq & Arfem s w1 orem i ean @ |
(3) T ¥ et Ufded & |fsha T * 3TmeR
I g2 o 2 AR % o |

AT i ¥ IR Ufded 9q & #e oAey
fwfor <l Uehar 2 |

(4)

169.

170.

171.

172.

Which of the following gastric cells indirectly

help in erythropoiesis ?

(1) Mucous cells
(2) Goblet cells
(3) Chief cells
(4) Parietal cells

Match the items given in Column I with those in

Column II and select the correct option given

below :
Column 1 Column I1

a. Fibrinogen 1. Osmotic balance

b.  Globulin ii.  Blood clotting

c.  Albumin iii.  Defence mechanism
a b c

1 i ii iii

(2) i iii ii

(3) iii ii i

(4) ii iii i

Which of the following is an occupational
respiratory disorder ?

(1) Silicosis

(2) Botulism

(3) Anthracis

(4) Emphysema

Calcium 1is important in skeletal muscle

contraction because it

(1) activates the myosin ATPase by binding to

it.

(2) detaches the myosin head from the actin
filament.

(3) binds to troponin to remove the masking of
active sites on actin for myosin.

(4) prevents the formation of bonds between

the myosin cross bridges and the actin
filament.
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173. T 1§ <} 1 Wel o1 ey 11 <l wel & firem fifse
IR f= few MU fowmedi & @ @E? fasey w1 T

I -
Lary [

a. ’E’Bﬂﬁ'ﬂﬁm

a b
(1 i ii
(2) i iii
(3) iii ii
4) iv i

174. T 1 9 < T8 Al 1 WY 11 h1 7el 8 e i
IR i few U fomewi 0§ @E? fawew &1 WA

T

&7y [

()
a.  IAlagEn FeE
b. T 1 HGW
c. T H ANFEA

d. 3 I GUEW

a b
(1 iv i
2 v iv
(3) iv v
4) v iv

Ty IT

i. Sl § gfe o
HIE B

ii. g 4 foreefcra @@l &

fivg
iii. =1 H TgEehdT

iv. I3 | R H1 e

c d
1ii iv
i iv
iv i
il iii

ey I1
(3eGi+ TF BT YTT)

BeAdirft hivrent
v. oHiuey gafea qfere

il iii
i ii

i iii
i 1ii

173. Match the items given in Column I with those in

174.

Column II and select the correct option given

below :

Column I
a.  Glycosuria 1.
b. Gout ii.
c. Renal calculi  iii.

d. Glomerular
nephritis
a b c
1 i ii iii
(2) i iii i
(3) iii ii iv
4) iv i ii

iv.

Column II

Accumulation of uric
acid in joints

Mass of crystallised
salts within the kidney

Inflammation in
glomeruli

Presence of glucose in
urine

d
iv
iv
i

iii

Match the items given in Column I with those in

Column IT and select the correct option given

below :

Column I

(Function)

a. Ultrafiltration

b. Concentration
of urine

c.  Transport of
urine

d. Storage of urine

a b c
1 iv i ii
2 v iv i
3) iv v ii
4) v iv i

Column II

(Part of Excretory
System,)

i. Henle’s loop

ii. Ureter

iii. Urinary bladder

iv. Malpighian
corpuscle

v. Proximal
convoluted tubule

d
iii
ii
iii

iii
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175.

176.

177.

178.

179.

180.

f=fefiga # @ H9-8 F9 | SRl 6 IgEH Je

ekl § Hd & 2

(1) Y= I 6l Jufedfd

(2) TR YA 3@ dfed 3 9@

(3) id I WS W Akl o AR hl AT Hi
Iuteafa

(4) Tee@ hi ufeufd

FIEH! TG o I gl I TEEE HIT ST
e 9 H i td e grr sifyafard § |

(1) TAfen

(2) U

(3) UfFhfern

(4) oAifeeaefis

ffafed & & wi-a1 9=q Toard 757 8 2
(1) @

(2) Fdem

(3) Hemiva

(4) rcgar

frfafad 4 & S8 e #gEril § ged 3caesh 5
9 H IH I @ ?

(1)
(2)
(3)
(4)

Freaffed Sgett & & -8 =g HRT 737 Hd ?
(1) Sgfehe
(2) wHiY

(3) <hgsm
(4) TR

faferugm s wft Werserl | fopd wehR fir § 2

(1) 3 Afafad a1 Fepre & fore dgamsfia
arft Bt 2

Y fIRR 1 Tehed & foTT TTeTT w61 T Hd B
F T o foTT iRt T TN Hid &

T QU THR F o Bl @

(2)
3
(4)

175.

176.

171.

178.

179.

180.

Which of the following features is used to identify
a male cockroach from a female cockroach ?

(D
(2)
3

Presence of caudal styles

Forewings with darker tegmina

Presence of a boat shaped sternum on the
9" abdominal segment

Presence of anal cerci

(4)

Identify the vertebrate group of animals
characterized by crop and gizzard in its digestive
system.

(D
(2)
6))
(4)

Reptilia
Aves
Amphibia
Osteichthyes

Which one
homeotherm ?

(1) Chelone
(2)
6))
4)

of these animals is not a

Camelus
Macropus

Psittacula

Which of the following organisms are known as
chief producers in the oceans ?

(D
(2)
6))
(4)

Diatoms
Cyanobacteria
Dinoflagellates
Euglenoids

Which of the following animals does not undergo
metamorphosis ?

(D
(2)
3
4)

Tunicate
Moth
Earthworm
Starfish

Ciliates differ from all other protozoans in

(D

having a contractile vacuole for removing
excess water

(2)
3
4)

using pseudopodia for capturing prey
using flagella for locomotion

having two types of nuclei
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Awferaa 13351 &7 @ g -

1. I8 IH W e wheneff, fleres @i o1
SENRERECl

9. efers a1 Frlieres <t faom ergufa & fomm
T gieqrelf 39T T 9 BiS |

3. HRENG e 1 3o IR 97 fou fomn @@
Jufeufa. o W gam gEarer fope fomm i
wienedl wlen @ & wen | At Tt
Tigeff 7 gEd 9R SuieafauEme W
TEAER T Tohy A1 9 Wi e foh SeH
3T U A& AT § SR Ig Araa aned
T WTHSAT HIFT TG |

e o o [N«
4. SAFCIHh/[ETHTAd TlLeheTeh bl IUINT JIS(d

2 |

5. JOTE | =R o foru ghemeff udem <
fmi v fafee g fefia 8 1 sga
e o Ofi el w1 %Een 3§ wie &+
fremi wa fafemi o orgam g |

6. Torelt off g o wem gieaeht TR S W
T g W AT 7 . |

7. 9 gieashrER U # feu mu ulen gicae
Tohd i wdierefi wEt ok & Sufedfaoses o
forg |

Read carefully the following instructions :

1. Each candidate must show on demand his/her

. No candidate, without special permission of

. The candidates should not leave the

. Use of Electronic/Manual Calculator is

. The candidates are governed by all Rules and

. No part of the Test Booklet and Answer Sheet

. The candidates will write the Correct Test

Admit Card to the Invigilator.

the Superintendent or Invigilator, would
leave his/her seat.

Examination Hall without handing over their
Answer Sheet to the Invigilator on duty and
sign the Attendance Sheet twice. Cases
where a candidate has not signed the
Attendance Sheet second time will be
deemed not to have handed over the
Answer Sheet and dealt with as an
unfair means case.

prohibited.

Regulations of the examination with regard to
their conduct in the Examination Hall. All
cases of unfair means will be dealt with as
per Rules and Regulations of this
examination.

shall be detached under any circumstances.

Booklet Code as given in the Test
Booklet/Answer Sheet in the Attendance
Sheet.
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